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Clues for Logic Puzzle: C530KI

1. The one with 72 LinkedIn connections has 30 fewer Facebook friends than Lindsey.
2. Zachary doesn't have exactly 50 LinkedIn connections.

3. Rosie has 78 LinkedIn connections.

4. Yvonne has 10 more Facebook friends than the one with 57 LinkedIn connections.
5. Opal doesn't have exactly 130 Facebook friends.

6. The one with 790 Twitter followers has fewer Facebook friends than the person with 57 LinkedIn
connections.

7. The person with 160 Facebook friends doesn't have exactly 599 Twitter followers.
8. The person with 605 Twitter followers has 10 more Facebook friends than Rosie.
9. Yvonne is either the one with 160 Facebook friends or the person with 150 Facebook friends.

10. The one with 707 Twitter followers has 10 fewer Facebook friends than the one with 72 LinkedIn
connections.

11. The person with 760 Twitter followers has fewer Facebook friends than the one with 84 LinkedIn
connections.

12. Of the one with 54 LinkedIn connections and Zachary, one has 790 Twitter followers and the other has
160 Facebook friends.



